1u=1.6605 x 10" kg Na = 6.022 x 10%
R = 8.31 J/(mol K) ks = R/INs=1.38 x 10 2 J/IK
Lt water = 33.5 x 10% J/kg Ly water = 22.6 x 10° J/kg
Te = 2T +32 To=o(p-32)  Tq=Tg+27315
AL =alLgAT Q =mcAT Q=mL¢ Q=mL,
(QJ _ AAT (gj —ecT*A a=5.67><10_8J/(s-m2-K4)

U Jconduction L t Jradiation
m=pV N Miarticle = oo PETMOIe by _ pRT = NkgT

Na Na

— 1 3 3 3 3kgT

E :Emv?ms = JkeT uigjjaesal =>NkgT = ZnRT Vims = /TB
AU =U; -Uj=Q -W W =PAV =P(V¢ -V) Wengine =Qn -Qc

in cycle
: . _w Qc (Qc } Tc Tc

engine efficiency e = — = 1- —= — = —= e =1-—=

’ y Qn Qn Qn JCamot Ty eCnagrlnr?et TH

engine
1 A F m
f:? v=Af -7 Vstring:\/% H=T
Vsound = /7/k—BT 7=§ (ideal monatomic gas) V sound, = 343m/s
m 3 air at 20°C
sound intensity: | = POL(W) Power (W) = M Area of a sphere = 4zr?
Area (mz) time (s)

sound intensity level : 5 =(10 dB)log (ILJ I, =1.00x10" %
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